
3.2 Quadrat ic funct ions

?  f ( x )  =  a x ' + b x t c

? Graph: Replace F(x) wl y

y = a x * + b x + C

? 290s (X-int.) : Replace ya/o

b I 1 6 2 - 4 9 0
X  =

Z a

? L ike  o f  Sym:  f ron t  o f  Quad.  Formula

X =
2a

? Vertex: f(Xlos.)
(xy)=(-22, F(-22))

? 7-int: 7=0
y=f(0)

L. 0.5.

Vertex
Line of

symmehns

z a



Tell me all about f(x) = x'+ 2x-8, graph

?  z e r o s
b = 2

0 = x * + 2 x - 8 6 5 - 8

Xx =
-  ( 2 )  1623 -4 (1 ) ( -8 ) .

2 . 1 ?  y - i n t

x = 14+32 +(01=04+2(01-8
2

X  =

1 y = - 8
+ 2 1 3 6

6

2

X = 1 ? 3 ?graph

x=-1+3,-1-3
x, =-4, x2=2)

L i n e e t  S y m

X =

? Vertex: x=-1 ((-4,0)) ((2,0))

y=+(-1)=611)3+26-11-8

4=1-2-8
Y = -9

(x ,  y )  =( -1 , -9) (0,-8) /(-2, -8) |

(-1,-9))



@ L. 0. Sym. given zeros

If we are giver the two zeros of flxy
we average their values to get them

Line of Sym.
EXY A quadratic function has zeros at

X=-7 and X=-2.  What  is  that
functions Line of Sym.?

X,+Xz
XL.o.s. = z

h e r e
2

@  F a c t o r i n g  f ( X )  y e i l d  t e r o s
To locate zeros of  f (x)  he set  y=o

0  =  f ( x )
I f  f o x )  f a c h o n s  i n t  ( x + a ) ( x + 6 )

then 0  =  ( x t a ( x * b )

x = - 9  o r  X = - b
EXI what  are the- zeros at (x)=x2-5×

0 = x 2 - 5 x ?x=0/0 -1x=57
0 = x ( x - 5 ) BTW L.J.S = 0+5 = 5



@ Building a quad ratic function given
some information

vertex of a parabola is (-2,-1)
and it passes through (x, 9) =(4,3)

Q= what is the guad, functor

Std. Form f(x) = a (x-h) +k

1Gen.Form fIx/=axatbxtc

? Lets use the std. form.
Vertex = (h, k2) in the std, farm

? f(x) =a (X-(-21) '+(-1)
? For: f(x) = a (x+2) -1

?  Po in t :

?  S o l v e :

3  =  a ( - 4 + 2 ) * - 1
3  =  a  ( - 2 ) 2 - 1

3 = 9 . 4 - 1
4 = 9 . 4

?  F ina l : #(x)= 1?(X+2)"

Std. Fort:f(x) = (x+2) -1
Gen form: (f(x) = x'+4x+3

v e r t e x  f o r m
"

vertex

(h ,  k) )


